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Clamp disabled
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Constant current input:
Full-scale 1pA for 10us
0 to SpA by 1uA steps
Clamp enabled
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Constant current input:
Full-scale 1pA for 10us

0 to 100pA by 20uA steps
Clamp enabled
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° | Pulse input:
i Full-scale 2mA for 5ns

i 0 to 10mA by 2mA steps
% s Clamp disabled
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Pulse input:

Full-scale 2mA for 5ns

0 to 10mA by 2mA steps
Clamp disabled



= valugtVTC" Moty "Tin" 0,03 ==wvaluetVTO"Yout”) "Iin" 0,002 == valueddTO"Mout") "Iin" 0,004}
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. I Pulse input:
Full-scale 2mA for 5ns
0 to 10mA by 2mA steps
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Clamp enabled
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Pulse input:
Full-scale 2mA for 5ns

0 to 10mA by 2mA steps
Clamp enabled
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Pulse input 10mA:
Full-scale 2mA for 5ns
Coupling resistor On/Off
Clamp enabled
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Pulse input 10mA:
Full-scale 2mA for 5ns
Coupling resistor On/Off
Clamp enabled
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Pulse input:
Full-scale 2mA for 5ns
Coupling resistor On

0-200mA for 5ns
Clamp enabled
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Pulse input:
Full-scale 2mA for 5ns
Coupling resistor On

0-200mA for 5ns
Clamp enabled
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Pulse input:
Full-scale 0.2mA for 50ns
Coupling resistor On

0-20mA for 50ns
Clamp enabled



